
1
1

2
, 1

1

22
, 1

1

23
, . . . , 1

1

2n
, . . .

u(x) = (lnx)arctg x

∫
9x3 + 25x2 + 14x+ 16

(x+ 1)(x− 2)(3x2 + 2x+ 2)
dx.

a b y = e−x

y′′′ + ay′′ + by′ + y = 0,

a1 = 2, a2 = 5, an = 5an−1 − 6an−2, n > 2.

∞∑

n=1

x4

n+ x+ 1
arctg

(
x2

√
n

)

E1 = (0; 1)
E2 = (1; +∞)

A = (aij) n × n n − 1 Ã = (Aij)
aij , i = 1, 2, 3, . . . , n; j = 1, 2, 3 . . . , n
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y(x) = ln
(
cos2 x+

√
1 + cos4 x

)

∫
sinx e2x dx.

y = x + x4

y′ = f(y/x) f(z)

{an}

a1 = 1, an+1 = an + 8n.

∞∑

n=1

tg

(
n+ 1

3n+ 2

)n

.

(1, 2)

x2 + xy + 2y2 = 1.
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.

x(t) = (ln t)arctg t

∫
9x3 + 25x2 + 14x+ 16

(x+ 1)(x− 2)(3x2 + 2x+ 2)
dx.

γ > 0

ẍ+ γẋ = 1− x2

(x, ẋ)

x(t) = 36 + 75t − 4t3, y(t) = −4t

t = 0 t x y

v
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x(t) = ln
(
cos2 t+

√
1 + cos4 t

)

∫
sinx e2x dx.






ẋ = x− y − z
ẏ = x+ y
ż = 3x+ z

{
ẏ1 = −y21 + y2,
ẏ2 = − ln(1− y1 + y21) + ln 3.

10
|F | = 10−3V 2 V

m 2l a b



lim
n→∞

(
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1 · 2 +
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2 · 3 +
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1
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)
.

x(t) = x arctg x− 1

2
ln(1 + x2)− 1

2
(arctg x)2.

∫
dx

x(1 + x)(1 + x+ x2)
.






ẋ = 4x− y − z,
ẏ = x+ 2y − z,
ż = x− y + 2z.

{
ẏ1 = ln(2− y22),
ẏ2 = ey1 − ey2 .

m1 m2

R R/2
R/2

k = 0, 2


